II OM SHRI MANJUNATHAYA NAMAHA II

Shri Dharmasthala

Manjunatheshwara Educational Society (Regd.), Ujire

DHAVALANAGAR, SATTUR, DHARWAD - 580 009.

(Regd. No. 35/85-86)

DHARWAD Ph.: (0836) 2464799, 2464699, 2462471 (O), 2460900 (R), Fax: 2462410 E-mail: sdmesro@gmail.com

UJIRE Ph.: (08256) 236488, 236225 Fax: 236220

President:
Dr. D. VEERENDRA HEGGADE
Dharmasthala

Ref. : SDME@3.03.2022-----

Oate:

Work Order No. Project / Engg / 064 / 21-22

To,

M/s BROOKEFIELD TECHNOLOGIES PVT. LTD., E-1381, 6th Main, 5th Cross, AECS Layout, ITPL Road, Brookefields, Bangalore-560 037

Email:-pruthvi@brookefield.in Pruthvish P- 9513709333

Sub: We are pleased to Award the Contract for design, supply, erection & commissioning of 300 KLD Effluent Treatment Plant (ETP) at SDMCET Campus, Dharwad.

Dear sir,

Based on the discussions held and the revised quote submitted, we are pleased to confirm this order for the Supply, Installation and commissioning of 300 KLD ETP complete at the final negotiated price of Rs. 24,40,000.00 (Rs.Twenty Four Lakh Forty Thousand Only). inclusive of GST.

Taxes & Duties: Contract amount is inclusive of all taxes, loading, unloading, transportation etc. No additional claim on this account will be entertained.

Price Escalation: SDME Society will not entertain any request by M/s BROOKEFIELD TECHNOLOGIES PVT. LTD., for escalation in price except on account of statutory variations, which shall be payable by the client on production of relevant documents. In case of downward revision of statutory payments, M/s BROOKEFIELD TECHNOLOGIES PVT. LTD., shall pass on the benefit to the client.

Time of Completion: The work shall be completed in all respect to the satisfaction of the Consultant and the Client, within 2 to 3 weeks from the handing over the site to work. (from the date of work or due)

Payment Terms:

50% advance along with the order, 30% payment against delivery of equipment at site, 10% on completion of erection and 10% after satisfactory commissioning.

implementation: As per project schdule.

Other Terms: Electrical and Water supply will be provided at point in work site, any civil work and storage of material is in client scope

Retention: 4% of the value of the contract will be retained as security deposit from the bill which will be returned after completion of Defect liability period of 1 Year from Completion of work or final bill payment whichever is later and without interest.

Warranty: 12 months from the date of commissioning or 18 months from the date of delivery whichever is earlier.

Defects Liability Period: The equipment shall be guaranteed for a minimum period of 24 months from the date of handing over against all manufacturing defects. M/s BROOKEFIELD TECHNOLOGIES PVT. LTD., shall at their cost repair / replace defective components free of cost during this period.

Makes and specifications: The makes of material and workmanship shall be strictly in line with approved makes and specifications as set out in the Annexure.

M/s BROOKEFIELD TECHNOLOGIES PVT. LTD., will source all equipment from manufacturers as indicated in the work order to have better co-ordination, inter operability and support.

Delay in delivery: The SDME Society reserves the right to cancel the order or reduce the contract value in case of unreasonable delay in supply of items and claim back the money advanced for the purpose to M/s BROOKEFIELD TECHNOLOGIES PVT. LTD.

If the above terms and conditions are acceptable to you, you are requested to kindly acknowledge the order and initiate preparing equipment drawings for approval by our engineers prior to commencement of work at site.

Thanking you,

Yours faithfully,

FOR SOMES ® DHARWAD

Secretary

Shri Dharmasthala

Manjunatheshwara Educational Society (Regd.), Ujire

DHAVALANAGAR, SATTUR, DHARWAD - 580 009.

(Regd. No. 35/85-86)

DHARWAD Ph.: (0836) 2464799, 2464699, 2462471 (O), 2460900 (R), Fax: 2462410 E-mail: sdmesro@gmail.com WIRE Ph.: (08256) 236488, 236225 Fax: 236220

President:

Dr. D. VEERENDRA HEGGADE Dharmasthala

Ref. : SDMES/.....03:03:2022

WORK ORDER

No.Project /Engg/ 101 / 21-22

To,

Santhosh Hegde Flat No.B-302, Gurudatta Residency Siddeshwara Park, Vidyanagar, Hubli- 580 021 Mob: - 9742361535

Dear sir,

Mosko rave for

We are pleased to place the Civil work for installation of new 300 KLD ETP Tank @ SDMCET Campus. Subject to the terms & conditions, Schedule of Items & Rates detailed in below

You are advised to contact our Site Engineer immediately to understand the scope & extent of work assigned to you and return the 2nd copy of work order sent herewith duly signed as proof of your accepatance of the same.

Schedule of Items & Rates

Sl. No.	Descreption	Unit	Qty	Rate	Amount
1	Earth work excavation	Cum	475.00	250.00	1,18,750.00
2	Laying of PCC1:4:8 for every base	Cum	7. 50 _.	5200.00	39,000.00
3	Concreting the base slab, wall, cover slab and pre casted membrance using M25 grade with shuttering.	Cum	67.00	10800.00	7,23,600.00
4	Tor Steel with labour	MT	6.50	74000.00	4,81,000.00
5	Ramdom rubbel stone masonry	Cum	5.00	3750.00	18,750.00
6	Constructionvof block masonry walls for sludge drying beds in CM1:6	Sqm	20.00	1150.00	23,000.00
7	Plastering the top of base slab, wall insides of plant, in CM1:3 mixed with water proofing chemical	Sqm	450.00	415.00	1,86,750.00
8	PVC Rungs, painting work, insurts handrailing etc.	L/s	1.00	75000.00	75,000.00
				Sub Total	16,65,850.00
	(ACCESS - 48/2004)		G	ST @ 18%	2,99,853.00
i Y		, KE		Total	19,65,703.00

Rs:-Nineteen Lakh Thousand Sixty Five Hundred Seven Hundred Three Only.

as & conditions

DS & ESI as applicable will be deducted in payment.

Rates are inclusive of loading, unloading & transportation.

4% of the value of the bill will be retained as security deposit from the bill which will be

- returned after completion of Defect and Liability period of 1 Year from Completion of work or 3 final bill payment whichever is later and without interest.
- Payments will be made as per actual measurement in site. 4
- Payment Terms 30% advance with work order, balance against RA bills 5
- Flat 5% discount on net payable 6
- Work to be completed in all aspects as per drawings by 25th March 2022
- No additional work shall be done without our written orders. 8

Yours faithfully,

FOR SDMES ® Dharwad

Shri Dharmasthala

Manjunatheshwara Educational Society (Regd.), Ujire

DHAVALANAGAR, SATTUR, DHARWAD - 580 009.

(Regd. No. 35/85-86)

DHARWAD Ph.: (0836) 2464799, 2464699, 2462471 (O), 2460900 (R), Fax: 2462410 E-mail: sdmesro@gmail.com UJIRE Ph.: (08256) 236488, 236225 Fax: 236220

President:

Dr. D. VEERENDRA HEGGADE Dharmasthala

Ref. : SDMES/.....03:03:2022.....

WORK ORDER

No.Project /Engg/ 101 / 21-22

To,

Santhosh Hegde Flat No.B-302, Gurudatta Residency Siddeshwara Park, Vidyanagar, Hubli- 580 021 Mob:- 9742361535

Dear sir,

Mosko rdvz

We are pleased to place the Civil work for installation of new 300 KLD ETP Tank @ SDMCET Campus. Subject to the terms & conditions, Schedule of Items & Rates detailed in below

You are advised to contact our Site Engineer immediately to understand the scope & extent of work assigned to you and return the 2nd copy of work order sent herewith duly signed as proof of your accepatance of the same.

Schedule of Items & Rates

1	Schedule of Items & Rates		T		
S1.	Descreption	Unit	Qty	Rate	Amount
No.	Earth work excavation	Cum	475.00	250.00	1,18,750.00
1		Cum	7.50	5200.00	39,000.00
3	Laying of PCC1:4:8 for every base Concreting the base slab, wall, cover slab and pre casted membrance using M25 grade with	Cum	67.00	10800.00	7,23,600.00
	shuttering.	MT	6.50	74000.00	4,81,000.00
4	Tor Steel with labour	Cum	5.00	3750.00	18,750.00
6	Ramdom rubbel stone masonry Constructionvof block masonry walls for sludge drying beds in CM1:6	Sqm	20.00	1150.00	23,000.00
7	Plastering the top of base slab, wall insides of plant, in CM1:3 mixed with water proofing chemical	Sqm	450.00	415.00	1,86,750.00
8	PVC Rungs, painting work, insurts handrailing etc.	L/s	1.00	75000.00	
	971 5 37 S	Ť	Sub Total		16,65,850.00
	2000年1月1日 1日 1		G	ST @ 18%	2,99,853.00
Total			19,65,703.00		

Rs:-Nineteen Lakh Thousand Sixty Five Hundred Seven Hundred Three Only.

as & conditions

OS & ESI as applicable will be deducted in payment.

Rates are inclusive of loading, unloading & transportation.

4% of the value of the bill will be retained as security deposit from the bill which will be

- returned after completion of Defect and Liability period of 1 Year from Completion of work or 3 final bill payment whichever is later and without interest.
- Payments will be made as per actual measurement in site.
- Payment Terms 30% advance with work order, balance against RA bills
- Flat 5% discount on net payable 6
- Work to be completed in all aspects as per drawings by 25th March 2022
- No additional work shall be done without our written orders. 8

Yours faithfully,

FOR SDMES ® Dharwad

PROJECT COMPLETION REPORT

: Shalamala & Sharavati Hostel

Borewell Rain Water Harvesting @

SDMCET Campus.

NAME OF THE CONTRACTORS

NAME OF THE PROJECT

3 (a)

1

2

Civil

: In House

ESTIMATED PROJECT COST 4

(a)

Civil

: 4.99 Lakhs

DATE OF COMMENCEMENT 5

: 20.06.2019

DATE OF COMPLETION 6

: 05.10.2019

EXPENDITURE DETAILS

SL NO	PARTICULARS	AMOUNT
1	Plumbing items	2,43,405.00
2	Aggrigate 20mm & 40mm	43,794.00
3	Sand	42,000.00
4	Plumbing work	1,19,421.00
5	JCB/Tractor hire charges	38,030.00
6	Bricks	8,585.00
7	Charcoal & glass fiber mesh	4,580.00
8	Masonry work	17,703.00
	TOTAL	5,17,518.00

D.M.E. Society, DHARWAD.

TROUBET COM LETION RELOKT					
NEW 300 KLD	ETP PLANT	AT SDMCET	CAMPUS		

NEW 300 KLD ETP PLANT AT SDMCET CAMPUS					
	Estimate	Rs in lakh			
Α	Brookfeild Water Technologies, Bangalore - Plant	24,40,000.00			
В	Sewage Line - Civil work	13,10,000.00			
C	ETP Tank - Civil work	19,65,703.00			
	Total	57,15,703.00			
D	Expenditure Details				
SL NO	PARTICULARS	AMOUNT in Rs.			
A	ETP LINE				
1	Cement	29,600.00			
2	Bricks	60,000.00			
3	Sand	34,724.00			
4	300mm dia Fome core pipes	11,87,139.00			
5	Civil Work	2,15,940.00			
	Sub Total	15,27,403.00			
В	New ETP Plant	24,40,000.00			
	Sub Total	24,40,000.00			
C	ETP TANK				
В	Civil Work	17,48,583.00			
2	Steel	6,12,912.00			
3	Roofing	29,400.00			
4	Chamber Covers	29,480.00			
5	Oil & Grease Tank	86,662.00			
	Sub Total	25,07,037.00			
,	Total	64,74,440.00			

PROGRESS :- All works completed. F

Secretary

SDME Society, Dharwad SECRETARY

S.D.M.E. Society, DHARWAD